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Ligatraining 16.10.11
Tageswertung

Skorpion
Jungfrau
Waage
Lowe
Stier
Krebs
Zwillinge
Widder




Matchergebnisse Ligatraining 16.10.11

Durchschnitt

Durchschnitt

Skorpion Match1 | Match2 | Match3 | Match4 | Match5 | Match6 | Match7] gesamt Match Pfeil
Arne Metzlaff 73 69 76 78 75 75 75 521 74,4 9,30
Richard Schatursunow 67 70 72 72 74 74 71 500 71,4 8,93
Anne Eichhorn 73 75 72 76 77 72 77 522 74,6 9,32
213 214 220 226 226 221 223 1543 735 9,18
Durchschnitt  Durchschnitt
Jungfrau Match1 | Match2 | Match3 | Match4 | Match5 | Match6 | Match7] gesamt Match Pfeil
Ekkehard Miiller 72 70 75 69 76 66 66 494 70,6 8,82
Anna Griinefeld 62 73 67 73 72 71 68 486 69,4 8,68
Maika Heinrich 72 62 61 72 70 69 77 483 69,0 8,63
206 205 203 214 218 206 211 1463 69,7 8,71
Lowe
Anke Sach 69 71 69 53 68 63 73 466 66,6 8,32
Victoria Viererbe 59 72 67 73 69 68 56 464 66,3 8,29
Dirk Viererbe 68 72 71 72 75 74 73 505 72,1 9,02
196 215 207 198 212 205 202 1435 68,3 8,54
Krebs
Marcel Leutnitz 63 67 69 68 267 66,8 8,34
Hans Seidel 46 48 51 57 202 50,5 6,31
Dirk Borsdorff 68 73 66 70 66 69 67 479 68,4 8,55
Erik Borsdorff 61 72 64 67 61 67 392 65,3 8,17
177 201 207 202 181 181 191 1340 62,8 7,84
Zwilinge
Karola Reinecke 38 55 48 38 49 45 273 455 5,69
Frank Rappsilber 68 59 66 70 52 315 63,0 7,88
Cedric Héanicke 60 63 58 65 61 307 61,4 7,68
Christoph Schwedler 38 45 26 37 40 186 37,2 4,65
166 152 156 150 173 138 146 1081 51,8 6,47
Widder
Martin Reinecke 62 68 69 70 61 60 65 455 65,0 8,13
Florian Reinecke 55 58 62 54 61 56 53 399 57,0 7,13
Bastian Schwedler 37 35 50 37 21 12 46 238 34,0 4,25
154 161 181 161 143 128 164 1092 52,0 6,50
Waage
Stefan Lippold 72 69 74 72 74 70 72 503 71,9 8,98
Stefan Laux 64 73 72 72 71 68 69 489 69,9 8,73
Werner Gruszka 72 68 71 70 59 68 61 469 67,0 8,38
208 210 217 214 204 206 202 1461 69,6 8,70
Stier
Jérg Heratsch 70 67 72 70 73 70 67 489 69,9 8,73
Maurice Miiller 64 72 63 61 63 65 62 450 64,3 8,04
Henry Barz 69 67 61 67 72 66 72 474 67,7 8,46
203 206 196 198 208 201 201 1413 67,3 8,41
Durchschnitt  Durchschnitt
Team-Ergebnisse Match1 | Match2 | Match3 | Match4 | Match5 | Match6 | Match7] gesamt Match Pfeil
Skorpion 213 214 220 226 226 221 223 1543 220,4 9,18
Jungfrau 206 205 203 214 218 206 211 1463 209,0 8,71
Waage 208 210 207 214 204 206 202 1451 207,3 8,64
Lowe 196 215 207 198 212 205 202 1435 205,0 8,54
Stier 203 206 196 198 208 201 201 1413 201,9 8,41
Krebs 177 201 207 202 181 181 191 1340 191,4 7,98
Widder 154 161 181 161 143 128 164 1092 156,0 6,50
ZwiIIinge 166 152 156 150 173 138 146 1081 154,4 6,43




Lowe

Ringe Punkte
Lowe 196 2
1. Match gegen
Ringe Punkte
Krebs 177 0
S 1. Passe 2. Passe 3. Passe 4. Passe
Pf. 1 Pf. 2 Pf. 1 Pf. 2 Pf. 1 Pf. 2 Pf. 1 Pf. 2
A 8 8 9 9 10 8 9 8 69
V 7 m 9 9 9 9 9 7 o
D 10 8 9 7 9 9 9 7 68 Summe
41| + 52| + 54| + 49| =] 196
Léwe Krebs
Unterschrift Schreiber Unterschrift Schreiber
Krebs
Ringe Punkte
Lowe 196 2
1. Match gegen
Ringe Punkte
Krebs 177 0
S 1. Passe 2. Passe 3. Passe 4. Passe
Pf. 1 Pf. 2 Pf. 1 Pf. 2 Pf. 1 Pf. 2 Pf. 1 Pf. 2
M 8 8 9 7 8 6 9 8 63
H 7 3 6 m 8 7 8 7 46
D 9 8 8 8 9 9 9 8 68 Summe
43| + 38| + 471 + 49| = 177
Léwe Krebs

Unterschrift Schreiber

Unterschrift Schreiber




Stier

Ringe Punkte
Stier 203 0
1. Match gegen
Ringe Punkte
Waage 208 | 2
S 1. Passe 2. Passe 3. Passe 4. Passe
Pf. 1 Pf. 2 Pf. 1 Pf. 2 Pf. 1 Pf. 2 Pf. 1 Pf. 2
J 7 8 10 10 10 8 10 7 70
M 8 6 9 7 8 8 9 9 64
H 8 8 10 9 10 10 8 6 69 Summe
451 + | 55| + | 54| + | 49 |=] 203
Stier Waage
Unterschrift Schreiber Unterschrift Schreiber
Waage
Ringe Punkte
Stier 203 0
1. Match gegen
Ringe Punkte
Waage 208 | 2
S 1. Passe 2. Passe 3. Passe 4. Passe
Pf. 1 Pf. 2 Pf. 1 Pf. 2 Pf. 1 Pf. 2 Pf. 1 Pf. 2
Li 10 8 10 10 10 7 10 7 72
St 9 7 10 8 9 8 7 6 [los
W 9 8 9 9 10 9 9 9 72 Summe
511 + | 56| + | 53] + | 48 |=]| 208
Stier Waage

Unterschrift Schreiber

Unterschrift Schreiber




Widder

Ringe Punkte
Widder 154 0
1. Match gegen
Ringe Punkte
Skorpion 213 2
S 1. Passe 2. Passe 3. Passe 4. Passe
Pf. 1 Pf. 2 Pf. 1 Pf. 2 Pf. 1 Pf. 2 Pf. 1 Pf. 2
IMa 9 7 7 5 9 7 9 R
Fl 8 8 6 6 8 5 8 6 |
Ba 8 5 1 m 8 m 8 7 37 Summe
451 + |25 + | 37| + | 47 |=] 154
Widder Skorpion
Unterschrift Schreiber Unterschrift Schreiber
Skorpion
Ringe Punkte
Widder 154 0
1. Match gegen
Ringe Punkte
Skorpion 213 2
S 1. Passe 2. Passe 3. Passe 4. Passe
Pf. 1 Pf. 2 Pf. 1 Pf. 2 Pf. 1 Pf. 2 Pf. 1 Pf. 2
Ar 9 9 10 9 9 7 10 10 |
Ri 9 7 9 8 8 7 10 9 |
Anf| 1o 7 10 9 10 8 10 9 ls  sSumme
51 + |55 + |49] + | 58 |=]| 213
Widder Skorpion

Unterschrift Schreiber

Unterschrift Schreiber




Zwillinge

Ringe | Punkte
Zwillinge 166 ] O
1. Match gegen
Ringe | Punkte
Jungfrau 206 | 2
S 1. Passe 2. Passe 3. Passe 4. Passe
Pf. 1 Pf. 2 Pf. 1 Pf. 2 Pf. 1 Pf. 2 Pf. 1 Pf. 2
K 1 m 5 4 9 8 7 4 ks
F 8 7 10 9 9 8 10 7 s
Ce| 10 10 8 6 5 5 10 6 [0 Summe
36| + |42 + |44 ]| + | 44 |=]| 166
Zwillinge Jungfrau
Unterschrift Schreiber Unterschrift Schreiber
Jungfrau
Ringe Punkte
Zwillinge 166 ] O
1. Match gegen
Ringe Punkte
Jungfrau 206 2
S 1. Passe 2. Passe 3. Passe 4. Passe
Pf. 1 Pf. 2 Pf. 1 Pf. 2 Pf. 1 Pf. 2 Pf. 1 Pf. 2
IMa 9 9 9 8 10 8 10 9 [
An| 10 6 9 8 8 7 7 7 Je2
Ek 10 8 9 8 10 9 10 8 [ Summe
521 + | 51 + |52 + | 51 ]|=| 206
Zwillinge Jungfrau

Unterschrift Schreiber

Unterschrift Schreiber




Zwillinge

Ringe | Punkte
Zwillinge 1521 0
2. Match gegen
Ringe Punkte
Lowe 215 2
S 1. Passe 2. Passe 3. Passe 4. Passe
Pf. 1 Pf. 2 Pf. 1 Pf. 2 Pf. 1 Pf. 2 Pf. 1 Pf. 2
chl| o 7 4 1 4 2 6 5 ks
K 8 3 10 7 7 6 8 6 s
F 9 8 4 2 10 7 10 9 lo  Summe
44| + 28| + 36| + 44| =| 152
Zwillinge Loéwe
Unterschrift Schreiber Unterschrift Schreiber
Lowe
Ringe Punkte
Zwillinge 152 0
2. Match gegen
Ringe Punkte
Lowe 215 2
S 1. Passe 2. Passe 3. Passe 4. Passe
Pf. 1 Pf. 2 Pf. 1 Pf. 2 Pf. 1 Pf. 2 Pf. 1 Pf. 2
A 7 7 10 9 10 9 10 9 71
V 9 8 10 9 10 8 10 8 72
D 10 9 10 9 8 7 10 9 72 Summe
50| + 571 + 52| + 56|=] 215
Zwillinge Léwe

Unterschrift Schreiber

Unterschrift Schreiber




Skorpion

Ringe | Punkte
Skorpion 214 2
2. Match gegen
Ringe | Punkte
Krebs 201 0
S 1. Passe 2. Passe 3. Passe 4. Passe
Pf. 1 Pf. 2 Pf. 1 Pf. 2 Pf. 1 Pf. 2 Pf. 1 Pf. 2
Ar 9 7 9 9 10 7 10 S
R 10 8 9 8 9 9 9 8 70
Anf| 1o 8 10 9 10 9 10 9 ls  Summe
52| + 54| + 54| + 541 = 214
Skorpion Krebs
Unterschrift Schreiber Unterschrift Schreiber
Krebs
Ringe Punkte
Skorpion 214 2
2. Match gegen
Ringe Punkte
Krebs 201 0
S 1. Passe 2. Passe 3. Passe 4. Passe
Pf. 1 Pf. 2 Pf. 1 Pf. 2 Pf. 1 Pf. 2 Pf. 1 Pf. 2
M 8 6 10 9 10 8 8 8 67
D 10 9 9 8 10 9 9 9 73
E 7 5 9 8 9 8 9 6 61 Summe
45| + 53| + 54| + 49| =| 201
Skorpion Krebs

Unterschrift Schreiber

Unterschrift Schreiber




Waage

Ringe Punkte
Waage 210 2
2. Match gegen
Ringe Punkte
Widder 161 0
S 1. Passe 2. Passe 3. Passe 4. Passe
Pf. 1 Pf. 2 Pf. 1 Pf. 2 Pf. 1 Pf. 2 Pf. 1 Pf. 2
Li 8 7 9 9 9 9 9 9 e
St 10 10 10 9 9 8 9 8 |Is
W 9 9 9 7 8 8 9 9 68 Summe
53| + 53| + 511 + 53l=] 210
Waage Widder
Unterschrift Schreiber Unterschrift Schreiber
Widder
Ringe Punkte
Waage 210 2
2. Match gegen
Ringe Punkte
Widder 161 0
S 1. Passe 2. Passe 3. Passe 4. Passe
Pf. 1 Pf. 2 Pf. 1 Pf. 2 Pf. 1 Pf. 2 Pf. 1 Pf. 2
IMa 8 8 9 5 10 10 10 8 [es
Fl 10 7 8 5 6 5 9 S
Ba 6 m 10 m 7 5 4 3 35 Summe
39| + 37| + 43| + 42] =] 161
Waage Widder

Unterschrift Schreiber

Unterschrift Schreiber




Jungfrau

Ringe Punkte
Jungfrau 205 O
2. Match gegen
Ringe Punkte
Stier 206 2
S 1. Passe 2. Passe 3. Passe 4. Passe
Pf. 1 Pf. 2 Pf. 1 Pf. 2 Pf. 1 Pf. 2 Pf. 1 Pf. 2
Ek 10 9 8 6 9 8 10 10 o
An| 9 8 10 8 9 9 10 10 |
|Ma 9 8 8 8 10 9 10 m Je2 Summe
53| + 48| + 54 + 50|=| 205
Jungfrau Stier
Unterschrift Schreiber Unterschrift Schreiber
Stier
Ringe Punkte
Jungfrau 205 O
2. Match gegen
Ringe Punkte
Stier 206 2
S 1. Passe 2. Passe 3. Passe 4. Passe
Pf. 1 Pf. 2 Pf. 1 Pf. 2 Pf. 1 Pf. 2 Pf. 1 Pf. 2
J 9 8 9 9 7 6 10 9 fe7
M 9 7 9 8 10 10 10 9 [
H 9 8 9 6 10 8 9 8 67 Summe
50| + 50| + 511 + 55| =] 206
Jungfrau Stier

Unterschrift Schreiber

Unterschrift Schreiber




Krebs

Ringe Punkte

Krebs 207 1
3. Match gegen
Ringe Punkte
Waage 207 1
S 1. Passe 2. Passe 3. Passe 4. Passe
Pf. 1 Pf. 2 Pf. 1 Pf. 2 Pf. 1 Pf. 2 Pf. 1 Pf. 2
M 9 8 10 7 10 9 9 7 69
E 8 7 10 9 9 9 10 10 |z
D 9 8 9 8 9 6 10 7 66 Summe
491 + 53] + 521 + 53l =] 207
Krebs Waage
Unterschrift Schreiber Unterschrift Schreiber
Waage
Ringe Punkte
Krebs 207 1
3. Match gegen
Ringe Punkte
Waage 207 1
S 1. Passe 2. Passe 3. Passe 4. Passe
Pf. 1 Pf. 2 Pf. 1 Pf. 2 Pf. 1 Pf. 2 Pf. 1 Pf. 2
Li 10 8 10 10 9 9 10 O
St 9 8 10 10 8 8 10 R
W 9 8 9 10* 10 8 9 8 61 Summe
52| + 49 + 52| + 541 =) 207
Krebs Waage

Unterschrift Schreiber

Unterschrift Schreiber
10* - aufgrund von Zeitnot eine Sekunde nach Abpfiff geschossen




Widder

Ringe Punkte
Widder 181 0
3. Match gegen
Ringe Punkte
Jungfrau 203 2
S 1. Passe 2. Passe 3. Passe 4. Passe
Pf. 1 Pf. 2 Pf. 1 Pf. 2 Pf. 1 Pf. 2 Pf. 1 Pf. 2
Ma 9 9 9 6 10 8 9 9 69
Fl 7 5 9 6 10 8 9 S
Ba 7 6 8 m 9 9 8 3 50 Summe
43| + 38| + 54 + 46| =] 181
Widder Jungfrau
Unterschrift Schreiber Unterschrift Schreiber
Jungfrau
Ringe Punkte
Widder 181 0
3. Match gegen
Ringe Punkte
Jungfrau 203 2
S 1. Passe 2. Passe 3. Passe 4. Passe
Pf. 1 Pf. 2 Pf. 1 Pf. 2 Pf. 1 Pf. 2 Pf. 1 Pf. 2
Ek 10 10 10 9 10 7 10 9 75
An 10 7 10 7 10 9 8 6 67
|Ma 9 m 9 8 10 8 9 8 b1 Summe
46| + 53| + 54| + 501 =] 203
Widder Jungfrau

Unterschrift Schreiber

Unterschrift Schreiber




Stier

Ringe Punkte
Stier 196 0
3. Match gegen
Ringe Punkte
Lowe 207 2
S 1. Passe 2. Passe 3. Passe 4. Passe
Pf. 1 Pf. 2 Pf. 1 Pf. 2 Pf. 1 Pf. 2 Pf. 1 Pf. 2
J 10 8 10 9 10 8 9 8 72
M 8 6 9 8 10 9 7 6 63
H 9 7 8 7 8 6 8 O Summe
48| + 511 + 511 + 46l =] 196
Stier Lowe
Unterschrift Schreiber Unterschrift Schreiber
Lowe
Ringe Punkte
Stier 196 0
3. Match gegen
Ringe Punkte
Lowe 207 2
S 1. Passe 2. Passe 3. Passe 4. Passe
Pf. 1 Pf. 2 Pf. 1 Pf. 2 Pf. 1 Pf. 2 Pf. 1 Pf. 2
A 9 8 8 7 10 9 9 9 69
V 9 8 10 9 8 7 9 7 67
D 10 10 9 8 9 9 8 8 71 Summe
541 + 511 + 521 + 501 =] 207
Stier Lowe

Unterschrift Schreiber

Unterschrift Schreiber




Skorpion

Ringe Punkte
Skorpion 220 2
3. Match gegen
Ringe Punkte
Zwillinge 156 0
S 1. Passe 2. Passe 3. Passe 4. Passe
Pf. 1 Pf. 2 Pf. 1 Pf. 2 Pf. 1 Pf. 2 Pf. 1 Pf. 2
Ar 9 9 10 9 10 9 10 10 e
R 9 8 10 10 9 9 9 8 72
An 10 8 8 8 10 10 10 S Summe
53| + 55 + 571 + 551 =] 220
Skorpion Zwillinge
Unterschrift Schreiber Unterschrift Schreiber
Zwillinge
Ringe Punkte
Skorpion 220 2
3. Match gegen
Ringe Punkte
Zwillinge 156 0
S 1. Passe 2. Passe 3. Passe 4. Passe
Pf. 1 Pf. 2 Pf. 1 Pf. 2 Pf. 1 Pf. 2 Pf. 1 Pf. 2
Cel 8 6 9 9 9 8 9 5 Je3
Ch 6 m 9 7 5 3 8 7 45
K 4 m 6 4 9 8 9 8 48 Summe
24l + | 44| + | 42| + | 46|=]| 156
Skorpion Zwillinge

Unterschrift Schreiber

Unterschrift Schreiber




Skorpion

Ringe Punkte
Skorpion 226 2
4. Match gegen
Ringe | Punkte
Stier 198 0
S 1. Passe 2. Passe 3. Passe 4. Passe
Pf. 1 Pf. 2 Pf. 1 Pf. 2 Pf. 1 Pf. 2 Pf. 1 Pf. 2
Ar 10 10 10 10 10 9 10 9 ks
Ri 10 9 9 9 10 8 9 I
Anf| 1o 9 10 10 10 9 9 9 ls  Summe
58] + 58] + 56| + 54| =] 226
Skorpion Stier
Unterschrift Schreiber Unterschrift Schreiber
Stier
Ringe Punkte
Skorpion 226 2
4. Match gegen
Ringe Punkte
Stier 198 0
S 1. Passe 2. Passe 3. Passe 4. Passe
Pf. 1 Pf. 2 Pf. 1 Pf. 2 Pf. 1 Pf. 2 Pf. 1 Pf. 2
J 10 9 9 9 9 8 9 7 70
M 9 8 10 m 9 8 9 8 61
H 9 9 8 7 10 10 8 6 67 Summe
54| + 43| + 54| + 471 =1 198
Skorpion Stier

Unterschrift Schreiber

Unterschrift Schreiber




Waage

Ringe Punkte
Waage 214 2
4. Match gegen
Ringe Punkte
Zwillinge 150 0
S 1. Passe 2. Passe 3. Passe 4. Passe
Pf. 1 Pf. 2 Pf. 1 Pf. 2 Pf. 1 Pf. 2 Pf. 1 Pf. 2
Li 10 10 9 8 9 8 10 I
St 10 9 9 8 9 9 9 I
W 9 9 9 8 10 8 10 7 70 Summe
571 + 511 + 53| + B3|=] 214
Waage Zwillinge
Unterschrift Schreiber Unterschrift Schreiber
Zwillinge
Ringe Punkte
Waage 214 2
4. Match gegen
Ringe Punkte
Zwillinge 150 0
S 1. Passe 2. Passe 3. Passe 4. Passe
Pf. 1 Pf. 2 Pf. 1 Pf. 2 Pf. 1 Pf. 2 Pf. 1 Pf. 2
F 9 7 9 8 10 9 7 7 s
Ce 7 4 7 7 10 8 8 7 58
Ch 2 1 2 2 8 7 4 m 26 Summe
30| + 35| + 52| + 33|=] 150
Waage Zwillinge

Unterschrift Schreiber

Unterschrift Schreiber




Jungfrau

Ringe Punkte
Jungfrau 214 | 2
4. Match gegen
Ringe Punkte
Krebs 202 0
S 1. Passe 2. Passe 3. Passe 4. Passe
Pf. 1 Pf. 2 Pf. 1 Pf. 2 Pf. 1 Pf. 2 Pf. 1 Pf. 2
Ek 9 8 10 7 9 9 9 S
An| 10 10 9 7 10 9 10 8 ks
|Ma 10 8 9 9 9 9 10 8 [ Summe
55 + 511 + 55 + B3|=] 214
Jungfrau Krebs
Unterschrift Schreiber Unterschrift Schreiber
Krebs
Ringe Punkte
Jungfrau 214 | 2
4. Match gegen
Ringe Punkte
Krebs 202 0
S 1. Passe 2. Passe 3. Passe 4. Passe
Pf. 1 Pf. 2 Pf. 1 Pf. 2 Pf. 1 Pf. 2 Pf. 1 Pf. 2
M 8 6 10 7 10 8 10 9 s
E 10 9 7 7 7 6 10 S
D 10 6 10 10 9 8 9 8 [ Summe
49 + 511 + 48] + B4l =] 202
Jungfrau Krebs

Unterschrift Schreiber

Unterschrift Schreiber




Widder

Ringe Punkte
Widder 161 0
4. Match gegen
Ringe Punkte
Lowe 198 2
S 1. Passe 2. Passe 3. Passe 4. Passe
Pf. 1 Pf. 2 Pf. 1 Pf. 2 Pf. 1 Pf. 2 Pf. 1 Pf. 2
Ma ] +o 10 9 8 9 6 10 8 ko
Fl 8 8 6 6 9 6 7 4 54
Ba 7 4 3 1 4 1 9 8 37 Summe
471 + 33| + 35| + 46| =] 161
Widder Léwe
Unterschrift Schreiber Unterschrift Schreiber
Lowe
Ringe Punkte
Widder 161 0
4. Match gegen
Ringe Punkte
Lowe 198 2
S 1. Passe 2. Passe 3. Passe 4. Passe
Pf. 1 Pf. 2 Pf. 1 Pf. 2 Pf. 1 Pf. 2 Pf. 1 Pf. 2
A 9 8 8 m 9 9 10 m s
V 10 7 9 8 10 9 10 10 |
D 9 8 10 8 10 9 10 8 72 Summe
511 + 43| + 56| + 48| =] 198
Widder Léwe

Unterschrift Schreiber

Unterschrift Schreiber




Waage

Ringe Punkte
Waage 2041 O
5. Match gegen
Ringe Punkte
Jungfrau 218 | 2
S 1. Passe 2. Passe 3. Passe 4. Passe
Pf. 1 Pf. 2 Pf. 1 Pf. 2 Pf. 1 Pf. 2 Pf. 1 Pf. 2
Li 10 9 9 9 10 10 9 8 |k
St 10 8 9 9 9 8 10 S
W 7 4 9 8 9 7 8 7 59 Summe
48| + 53| + 53| + 50|=] 204
Waage Jungfrau
Unterschrift Schreiber Unterschrift Schreiber
Jungfrau
Ringe Punkte
Waage 204 | O
5. Match gegen
Ringe Punkte
Jungfrau 218 | 2
S 1. Passe 2. Passe 3. Passe 4. Passe
Pf. 1 Pf. 2 Pf. 1 Pf. 2 Pf. 1 Pf. 2 Pf. 1 Pf. 2
Ek 10 10 10 10 10 9 9 8 ks
An| 10 9 9 8 9 8 10 9 [
|Ma 9 9 10 8 10 6 10 8 [o Summe
571 + 55 + 52| + B4l =] 218
Waage Jungfrau

Unterschrift Schreiber

Unterschrift Schreiber




Lowe

Ringe Punkte
Lowe 212 0
5. Match gegen
Ringe Punkte
Skorpion 226 2
S 1. Passe 2. Passe 3. Passe 4. Passe
Pf. 1 Pf. 2 Pf. 1 Pf. 2 Pf. 1 Pf. 2 Pf. 1 Pf. 2
A 9 8 8 6 10 9 9 9 68
V 9 7 9 8 10 9 9 S
D 10 9 10 9 10 9 10 8 75 Summe
52| + 50| + 571 + B3l=| 212
Léwe Skorpion
Unterschrift Schreiber Unterschrift Schreiber
Skorpion
Ringe Punkte
Lowe 212 0
5. Match gegen
Ringe Punkte
Skorpion 226 2
S 1. Passe 2. Passe 3. Passe 4. Passe
Pf. 1 Pf. 2 Pf. 1 Pf. 2 Pf. 1 Pf. 2 Pf. 1 Pf. 2
Ar 10 10 10 9 9 9 9 9 ks
R 10 9 9 9 10 8 10 9 74
Anf| 1o 10 10 10 9 9 10 9 k7  summe
59| + 571 + 54 + 56l=| 226
Léwe Skorpion

Unterschrift Schreiber

Unterschrift Schreiber




Zwillinge

Ringe Punkte
Zwillinge 173 0
5. Match gegen
Ringe Punkte
Stier 208 2
S 1. Passe 2. Passe 3. Passe 4. Passe
Pf. 1 Pf. 2 Pf. 1 Pf. 2 Pf. 1 Pf. 2 Pf. 1 Pf. 2
K 4 1 7 6 9 8 2 1 e
F 9 9 9 7 9 9 9 9 70
Ce| 8 6 9 7 9 8 10 8 e Summe
37| + 451 + 52| + 39|=| 173
Zwillinge Stier
Unterschrift Schreiber Unterschrift Schreiber
Stier
Ringe Punkte
Zwillinge 173 0
5. Match gegen
Ringe Punkte
Stier 208 2
S 1. Passe 2. Passe 3. Passe 4. Passe
Pf. 1 Pf. 2 Pf. 1 Pf. 2 Pf. 1 Pf. 2 Pf. 1 Pf. 2
J 9 8 10 9 9 9 10 9 73
M 9 m 9 9 9 8 10 9 I
H 10 9 9 8 9 8 10 9 72 Summe
451 + 54 + 52| + 571=] 208
Zwillinge Stier

Unterschrift Schreiber

Unterschrift Schreiber




Krebs

Ringe Punkte
Krebs 181 2
5. Match gegen
Ringe Punkte
Widder 143 0
S 1. Passe 2. Passe 3. Passe 4. Passe
Pf. 1 Pf. 2 Pf. 1 Pf. 2 Pf. 1 Pf. 2 Pf. 1 Pf. 2
E 10 9 9 6 9 7 10 7 67
H 6 6 7 6 7 2 9 5 ks
D 9 6 10 7 10 9 10 5 les  Summe
46| + 45| + 441 + 46| =| 181
Krebs Widder
Unterschrift Schreiber Unterschrift Schreiber
Widder
Ringe Punkte
Krebs 181 2
5. Match gegen
Ringe Punkte
Widder 143 0
S 1. Passe 2. Passe 3. Passe 4. Passe
Pf. 1 Pf. 2 Pf. 1 Pf. 2 Pf. 1 Pf. 2 Pf. 1 Pf. 2
IMa 8 8 9 9 8 8 6 5 Jei
Fl 7 7 9 8 9 6 8 7 |
Ba 3 1 6 m 1 m 7 3 21 Summe
34 + | 411 + | 32| + | 36]=] 143
Krebs Widder

Unterschrift Schreiber

Unterschrift Schrei

iber




Widder

Ringe Punkte
Widder 128 0
6. Match gegen
Ringe Punkte
Zwillinge 1381 2
S 1. Passe 2. Passe 3. Passe 4. Passe
Pf. 1 Pf. 2 Pf. 1 Pf. 2 Pf. 1 Pf. 2 Pf. 1 Pf. 2
IMa 7 6 9 4 9 8 10 7 oo
Fl 6 3 8 7 8 8 8 8 s
Ba 5 2 2 m 2 1 m m 12 Summe
29| + 30| + 36| + 33|=| 128
Widder Zwillinge
Unterschrift Schreiber Unterschrift Schreiber
Zwillinge
Ringe Punkte
Widder 128 0
6. Match gegen
Ringe Punkte
Zwillinge 1381 2
S 1. Passe 2. Passe 3. Passe 4. Passe
Pf. 1 Pf. 2 Pf. 1 Pf. 2 Pf. 1 Pf. 2 Pf. 1 Pf. 2
F 7 7 5 5 8 2 10 S
K 10 4 9 8 9 8 1 m o
Chl 8 5 9 m 4 4 6 1 37 Summe
41 + 36| + 35| + 26|l =] 138
Widder Zwillinge

Unterschrift Schreiber

Unterschrift Schreiber




Krebs

Ringe Punkte
Krebs 181 0
6. Match gegen
Ringe Punkte
Stier 201 2
S 1. Passe 2. Passe 3. Passe 4. Passe
Pf. 1 Pf. 2 Pf. 1 Pf. 2 Pf. 1 Pf. 2 Pf. 1 Pf. 2
E 8 8 10 8 10 3 7 7 61
H 6 4 8 7 7 5 9 I
D 10 7 9 8 10 9 8 8 lo  Summe
43| + 50| + 441 + 44| = 181
Krebs Stier
Unterschrift Schreiber Unterschrift Schreiber
Stier
Ringe Punkte
Krebs 181 0
6. Match gegen
Ringe Punkte
Stier 201 2
S 1. Passe 2. Passe 3. Passe 4. Passe
Pf. 1 Pf. 2 Pf. 1 Pf. 2 Pf. 1 Pf. 2 Pf. 1 Pf. 2
J 10 9 9 8 9 7 9 9 70
M 9 8 8 7 9 7 10 7 65
H 9 6 10 9 10 7 8 7 66 Summe
511 + 511 + 491 + 50| =] 201
Krebs Stier

Unterschrift Schreiber

Unterschrift Schreiber




Skorpion

Ringe Punkte
Skorpion 221 2
6. Match gegen
Ringe Punkte
Jungfrau 206 | O
S 1. Passe 2. Passe 3. Passe 4. Passe
Pf. 1 Pf. 2 Pf. 1 Pf. 2 Pf. 1 Pf. 2 Pf. 1 Pf. 2
Ar 10 9 10 9 10 9 10 g8 ks
R 10 10 9 9 10 7 10 9 [
An| 10 10 9 8 10 7 10 8 72 Summe
59| + 54 + 53| + 55| =] 221
Skorpion Jungfrau
Unterschrift Schreiber Unterschrift Schreiber
Jungfrau
Ringe Punkte
Skorpion 221 2
6. Match gegen
Ringe Punkte
Jungfrau 206 | O
S 1. Passe 2. Passe 3. Passe 4. Passe
Pf. 1 Pf. 2 Pf. 1 Pf. 2 Pf. 1 Pf. 2 Pf. 1 Pf. 2
Ek 8 8 8 7 9 8 9 9 s
An| 10 7 9 9 9 8 10 9 |
|Ma 9 9 8 7 9 8 10 9 [eo Summe
511 + 48| + 511 + 56| =] 206
Skorpion Jungfrau

Unterschrift Schreiber

Unterschrift Schreiber




Lowe

Ringe Punkte
Lowe 205 0
6. Match gegen
Ringe Punkte
Waage 206 | 2
S 1. Passe 2. Passe 3. Passe 4. Passe
Pf. 1 Pf. 2 Pf. 1 Pf. 2 Pf. 1 Pf. 2 Pf. 1 Pf. 2
A 10 8 10 9 9 8 9 m e
V 10 6 9 9 10 8 9 7 68
D 10 9 9 9 9 8 10 10 s Summe
53| + 551 + 52| + 45| =] 205
Léwe Waage
Unterschrift Schreiber Unterschrift Schreiber
Waage
Ringe Punkte
Lowe 205 0
6. Match gegen
Ringe Punkte
Waage 206 | 2
S 1. Passe 2. Passe 3. Passe 4. Passe
Pf. 1 Pf. 2 Pf. 1 Pf. 2 Pf. 1 Pf. 2 Pf. 1 Pf. 2
Li 10 8 10 8 10 8 9 7 ko
St 8 7 9 6 10 10 10 O
W 10 9 8 8 9 7 9 8 68 Summe
52| + 49| + 54| + 51| =| 206
Léwe Waage

Unterschrift Schreiber

Unterschrift Schreiber




Stier

Ringe | Punkte
Stier 201 2
7. Match gegen
Ringe Punkte
Widder 164 0
S 1. Passe 2. Passe 3. Passe 4. Passe
Pf. 1 Pf. 2 Pf. 1 Pf. 2 Pf. 1 Pf. 2 Pf. 1 Pf. 2
J 9 9 10 8 9 6 9 7 67
M 8 7 9 8 7 6 9 S
H 10 9 10 9 9 7 9 9 72 Summe
52| + 54| + 44 + 51|=| 201
Stier Widder
Unterschrift Schreiber Unterschrift Schreiber
Widder
Ringe Punkte
Stier 201 2
7. Match gegen
Ringe Punkte
Widder 164 0
S 1. Passe 2. Passe 3. Passe 4. Passe
Pf. 1 Pf. 2 Pf. 1 Pf. 2 Pf. 1 Pf. 2 Pf. 1 Pf. 2
IMa 9 8 8 7 9 8 9 7 s
Fl 9 6 7 1 10 8 9 3 I
Ba 7 7 5 3 6 4 8 6 ks  Summe
46| + 31| + 45| + 42| =| 164
Stier Widder

Unterschrift Schreiber

Unterschrift Schreiber




Jungfrau

Ringe Punkte
Jungfrau 211 2
7. Match gegen
Ringe Punkte
Lowe 202 0
S 1. Passe 2. Passe 3. Passe 4. Passe
Pf. 1 Pf. 2 Pf. 1 Pf. 2 Pf. 1 Pf. 2 Pf. 1 Pf. 2
Ek 8 7 9 9 9 8 8 S
An| 9 8 9 8 9 8 9 S
|Ma 10 9 10 10 10 8 10 10 |7 Summe
511 + 551 + 52| + B3|=] 211
Jungfrau Loéwe
Unterschrift Schreiber Unterschrift Schreiber
Lowe
Ringe Punkte
Jungfrau 211 2
7. Match gegen
Ringe Punkte
Lowe 202 0
S 1. Passe 2. Passe 3. Passe 4. Passe
Pf. 1 Pf. 2 Pf. 1 Pf. 2 Pf. 1 Pf. 2 Pf. 1 Pf. 2
A 10 10 10 8 9 9 9 8 ks
V 10 8 9 8 9 6 6 m |se
D 9 7 10 10 10 10 9 8 s  Summe
54 + 55 + 53| + 40| =] 202
Jungfrau Loéwe

Unterschrift Schreiber

Unterschrift Schreiber




Krebs

Ringe Punkte
Krebs 191 2
7. Match gegen
Ringe Punkte
Zwillinge 146 0
S 1. Passe 2. Passe 3. Passe 4. Passe
Pf. 1 Pf. 2 Pf. 1 Pf. 2 Pf. 1 Pf. 2 Pf. 1 Pf. 2
E 9 7 9 8 9 6 10 9 67
H 10 9 9 8 4 3 8 6 57
D 8 6 9 8 10 10 10 6 67 Summe
49| + 511 + 42| + 49| = 191
Krebs Zwillinge
Unterschrift Schreiber Unterschrift Schreiber
Zwillinge
Ringe Punkte
Krebs 191 2
7. Match gegen
Ringe Punkte
Zwillinge 1461 O
S 1. Passe 2. Passe 3. Passe 4. Passe
Pf. 1 Pf. 2 Pf. 1 Pf. 2 Pf. 1 Pf. 2 Pf. 1 Pf. 2
K 7 5 10 6 5 4 5 3 ks
Ce 10 8 9 7 6 5 9 7 e
Ch 8 5 1 m 9 6 6 5 40 Summe
43| + 33| + 35| + 35|=] 146
Krebs Zwillinge

Unterschrift Schreiber

Unterschrift Schreiber




Waage

Ringe Punkte
Waage 2021 0
7. Match gegen
Ringe Punkte
Skorpion 223 2
S 1. Passe 2. Passe 3. Passe 4. Passe
Pf. 1 Pf. 2 Pf. 1 Pf. 2 Pf. 1 Pf. 2 Pf. 1 Pf. 2
Li 10 8 9 8 9 9 10 9 72
St 9 8 9 6 10 9 9 9 |
W 10 6 8 7 7 7 9 7 61 Summe
511 + 47| + 511 + 53|=] 202
Waage Skorpion
Unterschrift Schreiber Unterschrift Schreiber
Skorpion
Ringe Punkte
Waage 2021 0
7. Match gegen
Ringe Punkte
Skorpion 223 2
S 1. Passe 2. Passe 3. Passe 4. Passe
Pf. 1 Pf. 2 Pf. 1 Pf. 2 Pf. 1 Pf. 2 Pf. 1 Pf. 2
Ar 10 9 9 9 10 10 10 8 ks
R 10 9 10 9 9 9 9 6 71
Anf| 1o 10 9 9 10 10 10 9 k7  summe
58] + 55 + 58] + 52l=| 223
Waage Skorpion

Unterschrift Schreiber

Unterschrift Schreiber




